

1-1-2017

Sampling theorem by Green's function in a space of vector-functions

HASSAN ATEF HASSAN

Follow this and additional works at: <https://journals.tubitak.gov.tr/math>



Part of the [Mathematics Commons](#)

Recommended Citation

HASSAN, HASSAN ATEF (2017) "Sampling theorem by Green's function in a space of vector-functions," *Turkish Journal of Mathematics*: Vol. 41: No. 1, Article 8. <https://doi.org/10.3906/mat-1505-73>
Available at: <https://journals.tubitak.gov.tr/math/vol41/iss1/8>

This Article is brought to you for free and open access by TÜBİTAK Academic Journals. It has been accepted for inclusion in Turkish Journal of Mathematics by an authorized editor of TÜBİTAK Academic Journals. For more information, please contact academic.publications@tubitak.gov.tr.

Sampling theorem by Green's function in a space of vector-functions

Hassan Atef HASSAN*

Department of Mathematics, Faculty of Science, Cairo University, Giza, Egypt

Received: 19.05.2015

Accepted/Published Online: 11.03.2016

Final Version: 16.01.2017

Abstract: In this paper we give a sampling expansion for integral transforms whose kernels arise from Green's function of differential operators in a space of vector-functions. The differential operators are in a space of dimension m and consist of systems of m equations in m unknowns. We assume the simplicity of the eigenvalues.

Key words: Sampling theory, vector-functions, Green's function, boundary value problems

1. Introduction

The use of Green's function in sampling theory is due to the work of Zayed [8], where a sampling theorem for integral transform whose kernel includes Green's function of not necessarily self-adjoint problems of the form

$$\begin{aligned} \sum_{k=0}^n p_k(x)y^{(n-k)}(x) &= \lambda y, \quad a \leq x \leq b, \quad \lambda \in \mathbb{C}, \\ \sum_{j=1}^n \alpha_{ji}y^{(j-1)}(a) + \beta_{ji}y^{(j-1)}(b) &= 0, \quad i = 1, 2, \dots, n, \end{aligned} \tag{1.1}$$

is introduced. This theorem can be stated as follows.

Let $H(x, \xi, \lambda)$ be the Green's function of the problem (1.1) and

$$P(\lambda) = \begin{cases} \prod_{k=1}^{\infty} \left(1 - \frac{\lambda}{\lambda_k}\right), & \text{if all } \lambda_k \neq 0, \\ \lambda \prod_{k=2}^{\infty} \left(1 - \frac{\lambda}{\lambda_k}\right), & \text{if one of } \lambda_k, \text{ say } \lambda_1 = 0, \end{cases} \tag{1.2}$$

where $\{\lambda_k\}_{k=1}^{\infty}$ are the eigenvalues of (1.1). If this product is not convergent, then a multiplication by $\exp(\lambda/\lambda_k)$ is needed. For some fixed $\xi_0 \in [a, b]$, put

$$\Phi(x, \lambda) = P(\lambda) H(x, \xi_0, \lambda).$$

Hence, the sampling theorem of [8] reads:

*Correspondence: hassanatef1@gmail.com

Department of Mathematics, Faculty of Basic Education, Public Authority for Applied Education and Training, Ardiya, Kuwait
2010 AMS Mathematics Subject Classification: 94A20, 26B12, 34B27, 34K10.

Theorem 1.1 *Let*

$$f(\lambda) = \int_a^b \bar{g}(x)\Phi(x, \lambda) dx, \quad g \in L^2(a, b). \tag{1.3}$$

Then $f(\lambda)$ can be represented as

$$f(\lambda) = \sum_{k=1}^{\infty} f(\lambda_k) \frac{P(\lambda)}{(\lambda - \lambda_k)P'(\lambda_k)}. \tag{1.4}$$

If the problem (1.1) is self-adjoint or g satisfies the boundary conditions, then the series converges uniformly on compact subsets of \mathbb{C} .

For more details one may refer to [8]. In [4], certain modifications for the above result were given. In [2], Green’s function for deriving sampling theorems associated with discontinuous eigenvalue problems was also given. In [1], the authors used Green’s function associated with differential operators on a space of vector-function of dimension two to derive the sampling theorem. They considered the Dirac system of differential equations

$$y_2' - p(x)y_1 = \lambda y_1, \quad y_1' + r(x)y_2 = -\lambda y_2, \tag{1.5}$$

together with the boundary conditions

$$\begin{aligned} y_1(0) \sin \alpha + y_2(0) \cos \alpha &= 0, \\ y_1(\pi) \sin \beta + y_2(\pi) \cos \beta &= 0, \end{aligned} \tag{1.6}$$

where $p(\cdot)$ and $r(\cdot)$ are continuous functions on $[0, \pi]$. Problem (1.5)–(1.6) [5, 6] has a countable number of real and simple eigenvalues $\{\lambda_n\}_{n=-\infty}^{\infty}$, and the solution $y(x, \lambda) = (y_1(x, \lambda), y_2(x, \lambda))^{\top}$, where \top stands for the transpose, of (1.5), which satisfies $y(0, \lambda) = (\cos \alpha, -\sin \alpha)^{\top}$, generates all eigenfunctions. A vector-function $f(x) = (f_1(x), f_2(x))^{\top}$ is square-integrable if each component is square-integrable. Let $\phi(x, \lambda) = (\phi_1(x, \lambda), \phi_2(x, \lambda))^{\top}$, $\psi(x, \lambda) = (\psi_1(x, \lambda), \psi_2(x, \lambda))^{\top}$ be two solutions of (1.5) satisfying

$$\phi(0, \lambda) = \begin{pmatrix} \phi_1(0, \lambda) \\ \phi_2(0, \lambda) \end{pmatrix} = \begin{pmatrix} \cos \alpha \\ -\sin \alpha \end{pmatrix}, \quad \psi(\pi, \lambda) = \begin{pmatrix} \psi_1(\pi, \lambda) \\ \psi_2(\pi, \lambda) \end{pmatrix} = \begin{pmatrix} \cos \beta \\ -\sin \beta \end{pmatrix}, \tag{1.7}$$

and let $w(\lambda) = \psi_1(0) \sin \alpha + \psi_2(0) \cos \alpha$. Thus, Green’s matrix of problem (1.5)–(1.6) [5, 6] is:

$$G(x, \xi, \lambda) = \frac{1}{w(\lambda)} \begin{cases} \phi(x, \lambda)\psi^{\top}(\xi, \lambda), & 0 \leq \xi \leq x \leq \pi, \\ \psi(x, \lambda)\phi^{\top}(\xi, \lambda), & 0 \leq x \leq \xi \leq \pi. \end{cases} \tag{1.8}$$

Define the matrix

$$\Phi(\xi, \lambda) = w(\lambda)G(x_0, \xi, \lambda), \tag{1.9}$$

where $x_0 \in [0, \pi]$. $\Phi(\xi, \lambda)$ is an entire vector-function of λ for every $\xi \in [0, \pi]$. The sampling theorem for vector-valued transforms whose kernels arise from Green’s matrix of [1] states:

Theorem 1.2 *Let $f(\cdot)$ be a square-integrable vector-function on $[0, \pi]$. Let $F(\lambda) = \begin{pmatrix} F_1(\lambda) \\ F_2(\lambda) \end{pmatrix}$ be the vector-valued transform*

$$F(\lambda) = \int_0^{\pi} \Phi(\xi, \lambda)f(\xi) d\xi. \tag{1.10}$$

Then $F(\lambda)$ is a vector entire function of order one and exponential type at most π that admits the vector-valued sampling representation:

$$F(\lambda) = \sum_{k=-\infty}^{\infty} F(\lambda_k) \frac{w(\lambda)}{(\lambda - \lambda_k)w'(\lambda_k)}. \tag{1.11}$$

The vector-valued series (1.11) converges uniformly on any compact subset of \mathbb{C} and absolutely on \mathbb{C} .

Also, in [3], two-dimensional sampling theorems associated with first- and second-order two-parameter differential equations via Green’s function were given.

The aim of this article is to introduce a sampling theorem for integral transforms whose kernels arise from Green’s function of differential operators in a space of vector-functions of dimension m and consist of systems of m equations in m unknowns. This will generalize the result of [4], where a system of differential equations of arbitrary order with boundary conditions that may be of mixed type is included.

Some main definitions for the problem and the formula of Green’s function are given in the following section as well as some results that are used in the sequel. Most of these definitions and the results have been taken from [7]. Section 3 contains the sampling theorem in which the integral transform is a vector of dimension m involving Green’s function in its kernel. Some illustrative examples are provided in the last section.

2. Preliminaries

Let \mathbb{C}^m be the m -dimensional complex space consisting of all vectors $y^T = (y_1, \dots, y_m)$, where T denotes the matrix transpose. Here $y(\cdot)$ is a vector-valued function in \mathbb{C}^m , with the inner product $\langle y, z \rangle = z^*y = \sum_{k=1}^m y_k(x)\overline{z_k(x)}$, where z^* denotes the conjugate transpose of z . We mean by an operator function A a square matrix $A(x) = [a_{ij}(x)]$ of order m , whose entries are scalar functions. By differentiability or continuity of vector-functions or operator functions we mean that those properties hold for their entries. Let $C^{(n)}[a, b]$ be the set of all vector-functions $y(\cdot)$ that have continuous derivatives up to n th order on $[a, b]$. Let $P_0(\cdot), \dots, P_n(\cdot)$ be continuous operator functions on $[a, b]$, and let $\det(P_0(x)) \neq 0$ in $[a, b]$. Consider the linear differential expression in \mathbb{C}^m ,

$$\ell(y) = P_0(x)y^{(n)} + \dots + P_n(x)y, \tag{2.1}$$

where $y \in C^{(n)}[a, b]$ and the n boundary conditions

$$U_i(y) = A_{i,1}y_a + A_{i,2}y'_a \dots + A_{i,n}y_a^{(n-1)} + B_{i,1}y_b + B_{i,2}y'_b + \dots + B_{i,n}y_b^{(n-1)} = 0, \tag{2.2}$$

$i = 1, 2, \dots, n$, where $A_{i,1}, A_{i,2}, \dots, A_{i,n}, B_{i,1}, B_{i,2}, \dots, B_{i,n}$ are fixed (constant) operator functions. We assume that these boundary conditions are linearly independent, i.e. the rank of

$$\begin{pmatrix} A_{1,1} & \dots & A_{1,n} & B_{1,1} & \dots & B_{1,n} \\ \cdot & \dots & \cdot & \cdot & \dots & \cdot \\ A_{n,1} & \dots & A_{n,n} & B_{n,1} & \dots & B_{n,n} \end{pmatrix}$$

equals nm . Integrating by parts yields

$$\int_a^b \langle \ell(y), z \rangle dx = P(\eta, \zeta) + \int_a^b \langle y, \ell^*(z) \rangle dx, \tag{2.3}$$

where

$$\ell^*(z) = (-1)^n (P_0^* z)^{(n)} + (-1)^{(n-1)} (P_1^* z)^{(n-1)} + \dots + P_n^* z, \quad (2.4)$$

and $P(\eta, \zeta)$ is a bilinear form in

$$\eta = (y_a, y'_a, \dots, y_a^{(n-1)}, y_b, y'_b, \dots, y_b^{(n-1)}), \quad \zeta = (z_a, z'_a, \dots, z_a^{(n-1)}, z_b, z'_b, \dots, z_b^{(n-1)}).$$

The differential expression $\ell^*(z)$ is called the adjoint differential expression of $\ell(y)$, and (2.3) is called Lagrange's formula for vector-functions. The differential expressions $\ell(y)$ and $\ell^*(y)$ are mutually adjoint. A differential expression is said to be self-adjoint if $\ell^* = \ell$. A general form of self-adjoint differential expressions is given in the following.

Lemma 2.1 *Any self-adjoint differential expression is a sum of differential expressions of the form*

$$\ell_{2\nu} = (Py^{(\nu)})^{(\nu)}, \quad \ell_{2\nu-1} = \frac{1}{2} [(iPy^{(\nu-1)})^{(\nu)} + (iPy^{(\nu)})^{(\nu-1)}],$$

where $P = P(x)$ is an operator function whose values are Hermitian matrices.

We extend U_1, \dots, U_n with other forms U_{n+1}, \dots, U_{2n} to obtain a linearly independent system of $2n$ forms U_1, U_2, \dots, U_{2n} . In this case Lagrange's formula takes the form

$$\int_a^b \langle \ell(y), z \rangle dx = \langle U_1, V_{2n} \rangle + \langle U_2, V_{2n-1} \rangle + \dots + \langle U_{2n}, V_1 \rangle + \int_a^b \langle y, \ell^*(z) \rangle dx, \quad (2.5)$$

where V_1, V_2, \dots, V_{2n} are linearly independent forms in the variables

$$z_a, z'_a, \dots, z_a^{(n-1)}, z_b, z'_b, \dots, z_b^{(n-1)}.$$

The boundary conditions

$$V_1 = 0, V_2 = 0, \dots, V_n = 0, \quad (2.6)$$

are said to be the adjoint conditions to the original boundary conditions

$$U_1 = 0, U_2 = 0, \dots, U_n = 0. \quad (2.7)$$

Boundary conditions are said to be self-adjoint if they are equivalent to their adjoint boundary conditions. Let L be the operator generated by the expression $\ell(y)$ and the boundary conditions (2.7). The operator generated by $\ell^*(y)$ and the boundary conditions (2.6) is denoted by L^* and is called the adjoint operator of L . If λ is an eigenvalue of L , then $\bar{\lambda}$ is an eigenvalue of L^* . An operator L is said to be self-adjoint if $L = L^*$, i.e. if and only if it is generated by a self-adjoint differential expression and self-adjoint boundary conditions.

Now we look for a special form of the boundary conditions (2.2), which are called *regular* boundary conditions. This definition can be stated as follows. Assume that the boundary conditions (2.2) have the form

$$U_\nu(y) = U_{\nu a}(y) + U_{\nu b}(y) = 0, \quad (2.8)$$

where

$$U_{\nu a}(y) = A_\nu y_a^{(k_\nu)} + \sum_{j=0}^{k_\nu-1} A_{\nu j} y_a^{(j)}, \quad U_{\nu b}(y) = B_\nu y_b^{(k_\nu)} + \sum_{j=0}^{k_\nu-1} B_{\nu j} y_b^{(j)}, \quad (2.9)$$

$$n - 1 \geq k_1 \geq k_2 \geq \dots \geq k_n \geq 0, \quad k_{\nu+2} < k_\nu,$$

and for each $\nu, \nu = 1, \dots, n$, at least one of the matrices A_ν, B_ν is different from zero. The conditions (2.8) are called *normalized*. It is always possible to put boundary conditions in a normalized form [7, p. 120]. The definition of regularity of (2.8) [7] depends on whether n is even or odd as follows:

When n is odd: $n = 2\mu - 1$, conditions (2.8) are said to be regular if the numbers θ_0 and θ_m defined by

$$\theta_0 + \theta_1 s + \dots + \theta_m s^m = \begin{vmatrix} A_1 w_1^{k_1} & \dots & A_1 w_{\mu-1}^{k_1} & (A_1 + sB_1)w_\mu^{k_1} & B_1 w_{\mu+1}^{k_1} & \dots & B_1 w_n^{k_1} \\ A_2 w_1^{k_2} & \dots & A_2 w_{\mu-1}^{k_2} & (A_2 + sB_2)w_\mu^{k_2} & B_2 w_{\mu+1}^{k_2} & \dots & B_2 w_n^{k_2} \\ \cdot & \dots & \cdot & \cdot & \cdot & \dots & \cdot \\ A_n w_1^{k_n} & \dots & A_n w_{\mu-1}^{k_n} & (A_n + sB_n)w_\mu^{k_n} & B_n w_{\mu+1}^{k_n} & \dots & B_n w_n^{k_n} \end{vmatrix} \quad (2.10)$$

are both different from zero, where w_k are the different n roots of -1.

When n is even: $n = 2\mu$, conditions (2.8) are said to be regular if the numbers θ_{-m} and θ_m defined by

$$\theta_{-m} s^{-m} + \theta_{-m+1} s^{-m+1} + \dots + \theta_m s^m = \begin{vmatrix} A_1 w_1^{k_1} & \dots & A_1 w_{\mu-1}^{k_1} & (A_1 + sB_1)w_\mu^{k_1} & \left(A_1 + \frac{B_1}{s}\right)w_{\mu+1}^{k_1} & B_1 w_{\mu+2}^{k_1} & \dots & B_1 w_n^{k_1} \\ A_2 w_1^{k_2} & \dots & A_2 w_{\mu-1}^{k_2} & (A_2 + sB_2)w_\mu^{k_2} & \left(A_2 + \frac{B_2}{s}\right)w_{\mu+1}^{k_2} & B_2 w_{\mu+2}^{k_2} & \dots & B_2 w_n^{k_2} \\ \cdot & \dots & \cdot & \cdot & \cdot & \cdot & \dots & \cdot \\ A_n w_1^{k_n} & \dots & A_n w_{\mu-1}^{k_n} & (A_n + sB_n)w_\mu^{k_n} & \left(A_n + \frac{B_n}{s}\right)w_{\mu+1}^{k_n} & B_n w_{\mu+2}^{k_n} & \dots & B_n w_n^{k_n} \end{vmatrix} \quad (2.11)$$

are both different from zero.

In the following we investigate the eigenvalues of the operator L and Green's function of the operator $L - \lambda I$. For this task, we need an operator form of equation (2.1). Consider the equation in an operator function $Y(x)$:

$$\ell(Y) = P_0(x)Y^{(n)} + \dots + P_n(x)Y = \lambda Y. \quad (2.12)$$

Solutions $Y_1(x), \dots, Y_n(x)$ of (2.12) are linearly independent if $C_1 Y_1 + \dots + C_n Y_n = 0$, for any constant operators C_1, \dots, C_n , holds only when $C_1 = \dots = C_n = 0$. This is equivalent to that the matrix

$$\begin{pmatrix} Y_1 & \dots & Y_n \\ \cdot & \dots & \cdot \\ Y_1^{(n-1)} & \dots & Y_n^{(n-1)} \end{pmatrix}$$

is nonsingular. Any solution of $\ell(y) = \lambda y$ has the form $y = Y_1 c_1 + \dots + Y_n c_n$, where c_1, \dots, c_n are constant vectors. The eigenvalues of $Ly = \lambda y$ are the zeros of the characteristic determinant

$$\Delta(\lambda) = \begin{vmatrix} U_1(Y_1) & \dots & U_1(Y_n) \\ \cdot & \dots & \cdot \\ U_n(Y_1) & \dots & U_n(Y_n) \end{vmatrix}. \quad (2.13)$$

The solutions Y_1, \dots, Y_n can be chosen to be analytic operator functions in the parameter λ , and hence $\Delta(\lambda)$ also is an analytic function. If this determinant is not identically zero, then these are zeros; the eigenvalues of the operator L are at most a countable set with no finite limit point. If λ_0 is a zero of $\Delta(\lambda)$ with multiplicity ν , then the multiplicity of the eigenvalue λ_0 cannot be greater than ν . Hence, if λ_0 is a simple zero of $\Delta(\lambda)$, then the multiplicity of the eigenvalue λ_0 is also unity. In this case λ_0 is called a simple eigenvalue.

In the following we give the Green's function expression for the operator $L - \lambda I$. This is guaranteed if $L - \lambda I = 0$ has only a trivial solution; in other words, λ is different from the eigenvalues of L .

Let $|W|$ be the determinant of the matrix

$$W = \begin{pmatrix} Y_1^{(n-1)} & \cdots & Y_n^{(n-1)} \\ Y_1^{(n-2)} & \cdots & Y_n^{(n-2)} \\ \vdots & \cdots & \vdots \\ Y_1 & \cdots & Y_n \end{pmatrix},$$

and denote by $W_\nu, \nu = 1, \dots, n$, the transpose of the m th order matrices consisting of the cofactors of the elements of Y_ν in W . Put

$$Z_\nu = \frac{1}{|W|} W_\nu,$$

$$g(x, \xi, \lambda) = \begin{cases} \frac{1}{2} \sum_{\nu=1}^n Y_\nu(x) Z_\nu(\xi), & \xi < x, \\ -\frac{1}{2} \sum_{\nu=1}^n Y_\nu(x) Z_\nu(\xi), & \xi > x, \end{cases}$$

$$U = \begin{pmatrix} U_1(Y_1) & \cdots & U_1(Y_n) \\ \vdots & \cdots & \vdots \\ U_n(Y_1) & \cdots & U_n(Y_n) \end{pmatrix}, \quad U^{-1} = \begin{pmatrix} W_{11} & \cdots & W_{1n} \\ \vdots & \cdots & \vdots \\ W_{n1} & \cdots & W_{nn} \end{pmatrix},$$

where $W_{j\nu}$ are $m \times m$ matrices.

The Green's function for the operator $L - \lambda I$ is given by

$$G(x, \xi, \lambda) = g(x, \xi, \lambda) - \sum_{j,\nu=1}^n Y_j(x) W_{j\nu} U_\nu(g). \tag{2.14}$$

The function $G(x, \xi, \lambda)$ is a meromorphic matrix-function of the parameter λ , and only eigenvalues of L can be poles of this function [7, p. 117]. Hence, the solution of $(L - \lambda)y = f(x)$ is

$$y(x) = \int_a^b G(x, \xi, \lambda) f(\xi) d\xi. \tag{2.15}$$

The following theorem gives a significant characterization of the Green's function $G(x, \xi, \lambda)$. From now on we assume that all the eigenvalues of the operator L generated by regular boundary conditions are simple zeros of $\Delta(\lambda)$. Assume also that $\{\lambda_k\}_{k=1}^\infty$, and $\{\bar{\lambda}_k\}_{k=1}^\infty$ are the eigenvalues of L and L^* associated with the eigenfunctions $\{\phi_k\}_{k=1}^\infty$ and $\{\psi_k\}_{k=1}^\infty$, respectively, where ϕ_k and ψ_k are normalized so that

$$\int_a^b \langle \phi_k, \psi_k \rangle dx = 1.$$

Theorem 2.2 *Green's function can be represented as the uniformly convergent expansion*

$$G(x, \xi, \lambda) = \sum_{k=1}^{\infty} \frac{\phi_k(x)\psi_k^*(\xi)}{\lambda_k - \lambda}, \quad x, \xi \in [a, b], \quad \lambda \neq \lambda_k. \quad (2.16)$$

Proof Green's function of the operator L has the following uniform convergent series [7, p. 128]:

$$G(x, \xi) = \sum_{k=1}^{\infty} \frac{\phi_k(x)\psi_k^*(\xi)}{\lambda_k}.$$

Since $\lambda_k - \lambda, k = 1, 2, \dots$, are the eigenvalues of the operator $L - \lambda I$ with the corresponding eigenfunctions $\phi_k(x)$ and $\overline{\lambda_k - \lambda}$ are the eigenvalues of the operator $L^* - \bar{\lambda}I$ with the corresponding eigenfunctions $\psi_k(x)$, then replacing λ_k by $\lambda_k - \lambda$ in the former formula, one gets (2.16). \square

3. The sampling theorem

In this section we introduce the main result for a sampling theorem of vector-valued transform of dimension m with a kernel defined via Green's function as follows:

Let $\xi_0 \in [a, b]$ such that $G(x, \xi_0, \lambda) \neq 0$ on $[a, b]$. Define the entire function

$$\Psi(x, \lambda) = \Delta(\lambda) G(x, \xi_0, \lambda). \quad (3.1)$$

Let $\mathfrak{L}_m^2(a, b)$ be the Hilbert space:

$$\mathfrak{L}_m^2(a, b) = \left\{ y(x) = \begin{pmatrix} y_1(x) \\ \vdots \\ y_m(x) \end{pmatrix} : y_i(x) \in L^2(a, b) \right\}, \quad (3.2)$$

where the inner product and the norm are

$$\begin{aligned} (y, z)_{\mathfrak{L}_m^2(a, b)} &= \int_a^b \langle y, z \rangle dx = \int_a^b z^* y dx, \\ \|y\|_{\mathfrak{L}_m^2(a, b)} &= \sqrt{(y, y)_{\mathfrak{L}_m^2(a, b)}}. \end{aligned} \quad (3.3)$$

Theorem 3.1 *For $f \in \mathfrak{L}_m^2(a, b)$, let*

$$F(\lambda) = \int_a^b f^*(x)\Psi(x, \lambda) dx, = (\Psi, f)_{\mathfrak{L}_m^2(a, b)}, \quad (3.4)$$

be an m -dimensional vector-valued transform, and then $F(\lambda)$ can be represented as

$$F(\lambda) = \sum_{k=1}^{\infty} F(\lambda_k) \frac{\Delta(\lambda)}{(\lambda - \lambda_k)\Delta'(\lambda_k)}. \quad (3.5)$$

This series converges uniformly on a compact subset of \mathbb{C} if:

1. f is in the domain of L when it is not self-adjoint, or
2. the operator L is self-adjoint.

Proof From (3.4) and (2.16), one has

$$\begin{aligned} F(\lambda) &= \int_a^b f^*(x)\Delta(\lambda) \sum_{k=1}^{\infty} \frac{\phi_k(x)\psi_k^*(\xi)}{\lambda_k - \lambda} dx \\ &= \sum_{k=1}^{\infty} \frac{\Delta(\lambda)}{\lambda_k - \lambda} \left(\int_a^b f^*(x)\phi_k(x) dx \right) \psi_k^*(\xi). \end{aligned} \tag{3.6}$$

This leads to

$$F(\lambda_k) = -\Delta'(\lambda_k) \left(\int_a^b f^*(x)\phi_k(x) dx \right) \psi_k^*(\xi). \tag{3.7}$$

Combining (3.6) and (3.7), one gets (3.5).

For the uniform convergence, we apply the same technique used in [9, p. 176]. Let K be a compact subset of the complex λ -plane. Let $\Lambda = \{\lambda_k\}_{k=1}^{\infty}$ and $\bar{\Lambda} = \{\lambda_{K1}, \dots, \lambda_{Kp}\}$ be the set of eigenvalues that lie in K , which is finite since Λ has no finite limit point. Put $\rho = \text{distance}(K, \Lambda - \bar{\Lambda})$; thus, for all $\lambda_k \in \Lambda - \bar{\Lambda}$, one gets

$$\sup_{\lambda \in K} \left| \frac{\Delta(\lambda)}{\lambda_k - \lambda} \right| \leq \frac{1}{\rho} \sup_{\lambda \in K} |\Delta(\lambda)| = \frac{1}{\rho} \|\Delta(\lambda)\|_K,$$

where $\sup_{\lambda \in K} |\Delta(\lambda)| = \|\Delta(\lambda)\|_K$. For $\lambda_k \in \bar{\Lambda}$, since $\Delta(\lambda)$ has zeros at $\lambda_{K1}, \dots, \lambda_{Kp}$, it follows that $h_{Ki} = D(\lambda)/(\lambda_{Ki} - \lambda)$ is an analytic function in K . Let

$$C(K) = \max \left\{ \frac{1}{\rho} \|\Delta(\lambda)\|_K, \|h_{K1}\|, \dots, \|h_{Kp}\| \right\}.$$

Hence, for all λ_k , one obtains

$$\sup_{\lambda \in K} \left| \frac{\Delta(\lambda)}{\lambda_k - \lambda} \right| \leq C(K).$$

Now in view of (3.6), we have

$$\begin{aligned} &\left\| F(\lambda) - \sum_{k=1}^m F(\lambda_k) \frac{\Delta(\lambda)}{(\lambda - \lambda_k)\Delta'(\lambda_k)} \right\|_{\mathcal{L}_m^2(a,b)} \\ &= \left\| \sum_{k=m+1}^{\infty} \frac{\Delta(\lambda)}{\lambda_k - \lambda} \left(\int_a^b f^*(x)\phi_k(x) dx \right) \psi_k^*(\xi) \right\|_{\mathcal{L}_m^2(a,b)} \\ &\leq C(K) \sum_{k=m+1}^{\infty} \left| (\phi_k, f)_{\mathcal{L}_m^2(a,b)} \right| \|\psi_k\|_{\mathcal{L}_m^2(a,b)}. \end{aligned}$$

The last series is independent of λ and tends to zero as $m \rightarrow \infty$ in the following cases.

1. If f is in the domain of L when the operator L is not self-adjoint, then f has the uniform convergent expansion

$$f(\xi) = \sum_{k=1}^{\infty} (f, \phi_k)_{\mathfrak{L}_m^2(a,b)} \psi_k(\xi); \tag{3.8}$$

see [7, p. 129].

2. If the operator L is self-adjoint, then (3.8) is valid for any $f \in \mathfrak{L}_m^2(a, b)$ with $\psi_k \equiv \phi_k$; see [7, pp. 124–125].

□

Remark 3.2 We can replace $\Delta(\lambda)$ in (3.1) by the infinite product (1.2) in the kernel (3.1) to get a representation similar to (1.4). In fact, let

$$\tilde{\Psi}(x, \lambda) = P(\lambda) G(x, \xi_0, \lambda). \tag{3.9}$$

Then the transform

$$\tilde{F}(\lambda) = \int_a^b f^*(x) \tilde{\Psi}(x, \lambda) dx, \quad f \in \mathfrak{L}_m^2(a, b), \tag{3.10}$$

will have the expansion

$$\tilde{F}(\lambda) = \sum_{k=1}^{\infty} \tilde{F}(\lambda_k) \frac{P(\lambda)}{(\lambda - \lambda_k) P'(\lambda_k)}. \tag{3.11}$$

Since $P(\lambda)$ and $\Delta(\lambda)$ have the same zeros, then

$$\Delta(\lambda) = R(\lambda)P(\lambda),$$

where $R(\lambda)$ is an entire function with no zeros.

4. Examples

In this section we give three examples for the above sampling theorem associated with boundary value problems of order one and two on a space of vector-functions that is two-dimensional.

Example 4.1 Consider the boundary value problem

$$i \begin{pmatrix} y_1 \\ y_2 \end{pmatrix}' + \begin{pmatrix} 0 & i \\ -i & 0 \end{pmatrix} \begin{pmatrix} y_1 \\ y_2 \end{pmatrix} = \lambda \begin{pmatrix} y_1 \\ y_2 \end{pmatrix}, \quad 0 \leq x \leq \pi, \tag{4.1}$$

$$U(y) = \begin{pmatrix} 1 & 0 \\ 0 & 1 \end{pmatrix} \begin{pmatrix} y_1(0) \\ y_2(0) \end{pmatrix} + \begin{pmatrix} 0 & -1 \\ 1 & 0 \end{pmatrix} \begin{pmatrix} y_1(\pi) \\ y_2(\pi) \end{pmatrix} = \begin{pmatrix} y_1(0) - y_2(\pi) \\ y_2(0) + y_1(\pi) \end{pmatrix} = 0. \tag{4.2}$$

This problem is self adjoint since

$$V(z) = i \left[\begin{pmatrix} 1 & 0 \\ 0 & 1 \end{pmatrix} z(0) + \begin{pmatrix} 0 & -1 \\ 1 & 0 \end{pmatrix} z(\pi) \right].$$

Any solution of $\ell(Y) = \lambda Y$ will be

$$Y(x, \lambda) = \begin{pmatrix} e^{-i\lambda x} \cos x & -e^{-i\lambda x} \sin x \\ e^{-i\lambda x} \sin x & e^{-i\lambda x} \cos x \end{pmatrix}.$$

Hence, any solution of (4.1) is

$$y(x, \lambda) = \begin{pmatrix} c_1 e^{-i\lambda x} \cos x - c_2 e^{-i\lambda x} \sin x \\ c_1 e^{-i\lambda x} \sin x + c_2 e^{-i\lambda x} \cos x \end{pmatrix}.$$

The boundary condition is regular since (2.10) will be

$$\left| A_1 + sB_1 \right| = \begin{vmatrix} 1 & -s \\ s & 1 \end{vmatrix} = 1 + s^2, \quad A_1 = \begin{pmatrix} 1 & 0 \\ 0 & 1 \end{pmatrix}, \quad B_1 = \begin{pmatrix} 0 & -1 \\ 1 & 0 \end{pmatrix}.$$

This means that $\theta_0 = 0, \theta_2 = 1$. We have

$$\Delta(\lambda) = 1 + e^{-2i\lambda\pi},$$

and hence the eigenvalues are $\lambda_k = k - \frac{1}{2}, k \in \mathbb{Z}$. Green's function $G(x, \xi, \lambda)$ here has the form

$$G(x, \xi, \lambda) = \frac{-i e^{i\lambda(\xi-x)}}{1 + e^{-2i\lambda\pi}} \begin{pmatrix} \cos x & -\sin x \\ \sin x & \cos x \end{pmatrix} \times \begin{cases} \begin{pmatrix} 1 & -e^{-i\lambda\pi} \\ e^{-i\lambda\pi} & 1 \end{pmatrix} & \xi < x \\ e^{-i\lambda\pi} \begin{pmatrix} -e^{-i\lambda\pi} & -1 \\ 1 & -e^{-i\lambda\pi} \end{pmatrix} & \xi > x \end{cases} \begin{pmatrix} \cos \xi & \sin \xi \\ -\sin \xi & \cos \xi \end{pmatrix}.$$

Let $\Psi(x, \lambda) = \Delta(\lambda) G(x, \xi_0, \lambda)$; then the transform (3.4), which is

$$F(\lambda) = \int_0^\pi f^*(x) \Psi(x, \lambda) dx, \quad f \in \mathfrak{L}_2^2(0, \pi),$$

has the expansion

$$F(\lambda) = \sum_{k=-\infty}^{\infty} F(k - 1/2) \frac{1 + e^{-2i\lambda\pi}}{2i\pi(\lambda - k + \frac{1}{2})}. \tag{4.3}$$

Here $P(\lambda) = \prod_{k=1}^{\infty} \left(1 - \frac{\lambda^2}{(k-1/2)^2}\right) = \cos \pi\lambda, \left(R(\lambda) = 2e^{-i\lambda\pi}\right)$. For the transform

$$\tilde{F}(\lambda) = \int_0^\pi f^*(x) \tilde{\Psi}(x, \lambda) dx, \quad \tilde{\Psi}(x, \lambda) = P(\lambda) G(x, \xi_0, \lambda),$$

one obtains

$$\tilde{F}(\lambda) = \sum_{k=-\infty}^{\infty} \tilde{F}(k - 1/2) \frac{\sin \pi(\lambda - k + \frac{1}{2})}{\pi(\lambda - k + \frac{1}{2})}. \tag{4.4}$$

Example 4.2 Consider the differential equation (4.1) with the boundary condition

$$U(y) = \begin{pmatrix} 1 & 0 \\ 0 & 1 \end{pmatrix} \begin{pmatrix} y_1(0) \\ y_2(0) \end{pmatrix} + \begin{pmatrix} 0 & 1 \\ 1 & 0 \end{pmatrix} \begin{pmatrix} y_1(\pi) \\ y_2(\pi) \end{pmatrix} = \begin{pmatrix} y_1(0) + y_2(\pi) \\ y_2(0) + y_1(\pi) \end{pmatrix} = 0. \quad (4.5)$$

This problem is self adjoint since $V(z) = i \left[\begin{pmatrix} 1 & 0 \\ 0 & 1 \end{pmatrix} z(0) + \begin{pmatrix} 0 & 1 \\ 1 & 0 \end{pmatrix} z(\pi) \right]$. The solution is the same as in the previous example and the boundary conditions are regular. The eigenvalues are the zeros of

$$\Delta(\lambda) = 1 - e^{-2i\lambda\pi},$$

and hence the eigenvalues are $\lambda_k = k, k \in \mathbb{Z}$. Here, we have

$$G(x, \xi, \lambda) = \frac{-i e^{-i\lambda(\xi-x)}}{1 - e^{-2i\lambda\pi}} \begin{pmatrix} \cos x & -\sin x \\ \sin x & \cos x \end{pmatrix} \times \\ \times \begin{cases} \begin{pmatrix} 1 & e^{-i\lambda\pi} \\ e^{-i\lambda\pi} & 1 \end{pmatrix} & \xi < x \\ e^{-i\lambda\pi} \begin{pmatrix} e^{-i\lambda\pi} & 1 \\ 1 & e^{-i\lambda\pi} \end{pmatrix} & \xi > x \end{cases} \begin{pmatrix} \cos \xi & \sin \xi \\ -\sin \xi & \cos \xi \end{pmatrix}.$$

Let $\Psi(x, \lambda) = \Delta(\lambda) G(x, \xi_0, \lambda)$; then the transform (3.4) has the expansion

$$F(\lambda) = \sum_{k=-\infty}^{\infty} F(k) \frac{e^{-i\pi\lambda} \sin \pi\lambda}{\pi(\lambda - k)}. \quad (4.6)$$

We have $P(\lambda) = \lambda \prod_{k=1}^{\infty} \left(1 - \frac{\lambda^2}{k^2} \right) = \frac{\sin \pi\lambda}{\pi}$, $(R(\lambda) = 2ie^{-i\lambda\pi})$. For the transform

$$\tilde{F}(\lambda) = \int_0^{\pi} f^*(x) \tilde{\Psi}(x, \lambda) dx, \quad \tilde{\Psi}(x, \lambda) = P(\lambda) G(x, \xi_0, \lambda),$$

one gets

$$\tilde{F}(\lambda) = \sum_{k=-\infty}^{\infty} \tilde{F}(k) \frac{\sin \pi(\lambda - k)}{\pi(\lambda - k)}.$$

Example 4.3 Consider the boundary value problem

$$\ell(y) = \begin{pmatrix} 0 & 1 \\ 1 & 0 \end{pmatrix} y'' = \lambda y, \quad \text{or} \quad \begin{cases} y_2'' = \lambda y_1, \\ y_1'' = \lambda y_2, \end{cases} \quad 0 \leq x \leq \pi, \quad (4.7)$$

$$U_1(y) = y(0) = \begin{pmatrix} y_1(0) \\ y_2(0) \end{pmatrix} = 0, \quad U_2(y) = \begin{pmatrix} y_1(\pi) \\ y_2(\pi) \end{pmatrix} = y(\pi) = 0. \quad (4.8)$$

Lagrange's formula will be

$$\int_0^{\pi} z^* \ell(y) dx = V_4^* U_1 + V_3^* U_2 + V_2^* U_3 + V_1^* U_4 + \int_0^{\pi} \ell^*(z) y dx, \quad (4.9)$$

where

$$V_1 = \begin{pmatrix} 0 & 1 \\ 1 & 0 \end{pmatrix} z(\pi), V_2 = -\begin{pmatrix} 0 & 1 \\ 1 & 0 \end{pmatrix} z(0). \tag{4.10}$$

Hence, ℓ and the boundary conditions are self-adjoint. Two linearly solutions of $\ell(Y) = \lambda Y$ are

$$Y_1(x, \lambda) = \begin{pmatrix} \cosh tx & \cos tx \\ \cosh tx & -\cos tx \end{pmatrix}, \quad Y_2(x, \lambda) = \begin{pmatrix} \sinh tx/t & \sin tx/t \\ \sinh tx/t & -\sin tx/t \end{pmatrix},$$

where $\lambda = t^2$. Therefore, any solution of (4.7) is given by

$$y(x, \lambda) = \begin{pmatrix} c_1 \cosh tx + c_2 \cos tx + c_3 \sinh tx/t + c_4 \sin tx/t \\ c_1 \cosh tx - c_2 \cos tx + c_3 \sinh tx/t - c_4 \sin tx/t \end{pmatrix}.$$

The problem (4.7) – (4.8) is regular since we have

$$A_1 = B_2 = \begin{pmatrix} 1 & 0 \\ 0 & 1 \end{pmatrix}, \quad A_2 = B_1 = \begin{pmatrix} 0 & 0 \\ 0 & 0 \end{pmatrix}, \quad k_1 = k_2 = 0,$$

and then (2.11) will be

$$\begin{vmatrix} (A_1 + sB_1) & \begin{pmatrix} A_1 + \frac{B_1}{s} \\ A_2 + \frac{B_2}{s} \end{pmatrix} \\ (A_2 + sB_2) & \begin{pmatrix} A_2 + \frac{B_2}{s} \\ A_1 + \frac{B_1}{s} \end{pmatrix} \end{vmatrix} = \frac{1}{s^2} - 2 + s^2,$$

i.e. $\theta_{-2} = \theta_2 = 1$. The eigenvalues of (4.7) – (4.8) are the zeros of

$$\Delta(\lambda) = \begin{vmatrix} 1 & 1 & 0 & 0 \\ 1 & -1 & 0 & 0 \\ \cosh \pi t & \cos \pi t & \sinh \pi t/t & \sin \pi t/t \\ \cosh \pi t & -\cos \pi t & \sinh \pi t/t & -\sin \pi t/t \end{vmatrix} = \frac{4 \sin \pi t \sinh \pi t}{t^2},$$

which are $\lambda_k = \pm k^2$, $k = 1, 2, \dots$, and all of them are simple. Here,

$$g(x, \xi, \lambda) = \frac{1}{4} \left\{ \begin{pmatrix} \cosh tx & \cos tx \\ \cosh tx & -\cos tx \end{pmatrix} \begin{pmatrix} \cosh t\xi & \cosh t\xi \\ \cos t\xi & -\cos t\xi \end{pmatrix} + \begin{pmatrix} \sinh tx & \sin tx \\ \sinh tx & -\sin tx \end{pmatrix} \begin{pmatrix} -\sinh t\xi & -\sinh t\xi \\ \sin t\xi & -\sin t\xi \end{pmatrix} \right\} \begin{cases} 1 & \xi < x, \\ -1 & \xi > x, \end{cases}$$

$$U^{-1} = \frac{1}{2} \left(\begin{pmatrix} 1 & 1 \\ 1 & -1 \end{pmatrix} \begin{pmatrix} 0 & 0 \\ 0 & 0 \end{pmatrix} \begin{pmatrix} \frac{t}{\tanh \pi t} & -\frac{t}{\tanh \pi t} \\ -\frac{t}{\tan \pi t} & \frac{t}{\tan \pi t} \end{pmatrix} \begin{pmatrix} \frac{t}{\sinh \pi t} & \frac{t}{\sinh \pi t} \\ \frac{t}{\sin \pi t} & -\frac{t}{\sin \pi t} \end{pmatrix} \right) = \begin{pmatrix} W_{11} & W_{12} \\ W_{21} & W_{22} \end{pmatrix}.$$

Hence, $G(x, \xi, \lambda)$ can be determined from (2.14). For the transform (3.4), we have

$$F(\lambda) = \sum_{k=1}^{\infty} \left(\frac{F(k^2)}{\lambda - k^2} - \frac{F(-k^2)}{\lambda + k^2} \right) \frac{2k^3 \sin \pi(\sqrt{\lambda} - k) \sinh \pi\sqrt{\lambda}}{\pi \lambda \sinh \pi k}. \tag{4.11}$$

Here $P(\lambda) = \prod_{k=1}^{\infty} \left(1 - \frac{\lambda^2}{k^2} \right) \left(1 + \frac{\lambda^2}{k^2} \right) = \frac{\sin \pi t \sinh \pi t}{\pi^2 t^2}$, $(R(\lambda) = 4 \pi^2)$. Thus, the transform \tilde{F} of Remark 3.2 has the same representation of the transform F .

References

- [1] Abd-alla MZ, Annaby MH. Sampling of vector-valued transforms associated with Green's matrix of Dirac system. *J Math Anal Appl* 2003; 284: 104-117.
- [2] Annaby MH, Freiling G, Zayed AI. Discontinuous boundary-value problems: expansion and sampling theorems. *J Integral Equ Appl* 2004; 16: 1-23.
- [3] Annaby MH, Hassan HA. On Green's function of two-parameter problems and sampling theory. *Appl Anal* 2011; 90: 627-641.
- [4] Annaby MH, Zayed AI. On the use of Green's function in sampling theory. *J Integral Equ Appl* 1998; 10: 117-139.
- [5] Levitan BM, Sargsjan IS. Introduction to Spectral Theory: Selfadjoint Ordinary Differential Operators. Translation of Mathematical Monographs, Vol. 39. Providence, RI, USA: American Mathematical Society, 1975.
- [6] Levitan BM, Sargsjan IS. Sturm-Liouville and Dirac Operators. Dordrecht, the Netherlands: Kluwer Academic, 1991.
- [7] Naimark MA. Linear Differential Operators I. London, UK: George Harrap, 1967.
- [8] Zayed AI. A new role of Green's function in interpolation and sampling theory. *J Math Anal Appl* 1993; 175: 222-238.
- [9] Zayed AI. Advances in Shannon's Sampling Theory. Boca Raton, FL, USA: CRC Press, 1993.